The PATC scale: using abstract information

Students demonstrate increasing skill in using abstract information.

Scale score J
{patc)

&5

s

More abstract information

Text: The 1981 Springbok
our

I

Test 7, Question 32:

Which statement woulkd the Maon
aciivists descrived In this text
disagree with?

Answor:
The protesters were also trying

to overcome racial Injustice in
New Zealand,

Text: Uniform

Test 6, Question 19:

In verse three, the phrase "she
‘easts on pins® suggests the
mother...

Answer:

45

uses lots of pins.

Text: The Hector's Dolphin

Test 3, Question 7:

What maxes the Heclor's dolphin
a mammal?

Answer:

The Hector's dalphin baby drinks
milk from its mother.

o

Test 1, Question 12:

What was wrong with the first
house that the man showed Mrs
Tyler?

Answer:

It was not big enough

Information students draw on to answer this question:

*...the tour raised many questions for Méorl activists.
Why, asked, had so many protesters nsked amest
or physical harm to support pecple in a country
thousands of miles awsy, when M&ori were facing
injustice in thelr own country?*

Readers need to understand the abstraction “injustice”. The
text does not provide examples of injustice to assist readers
to make the concept more concrete.

Information students draw on to answer this question:

*At home she feasts on pins.*

Readers need to understand the metaphor “she feasts on
pins”. The metaphor implies “she* and a feast share the
abstract qualities of excess and over-indulgence. Readers
need to at least have an implicit understanding of these
abstractions if they are to understand the metaphor.

Information students draw on to answer this question:

*A doiphin Is a mammai—the young suckie mik from
thelr mothers.*

Readers nead to understand “mammal”. A (concrete) example
is given nmmed;melx after the word “—the young sucide milk
from their mothers®, but readers need to at least have an
implicit understanding of the function of a dash (to connect
or separate a phrase or a clause) If they are to appreciate
that an example has been provided. if they do not, *mammal®
will remain an abstract concept.

More concrete information

Information students draw on to answer this question:

“The first place was & nice litthe house...'It is pretty,’
sald Mrs Tyler, 'but it is too small. | like to have more
room.*

Readers need to understand “little®, “too small*, and *more
room". Readers will easily draw upon their prior knowledge
in order to imagine concrete examples of these concepts.
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The PATC scale: using separated information

Students demonstrate increasing skill in using information from distant parts of a text.

90

80

3

Information more separated

Text: The Lizard Catchers

Test 7, Question 35:
What are the boys walting for?
Answer:

The best moment to casch some
\zards,

A

70

409

304

b

204

Text: Why Does Popcomn

Pop?
Test 5, Question 25:
What maxes popeorn pop?
Answer:

The exparding waler vapour.

Text: Gladys the Goat

Test 4, Question 4:

In what way was the goat like
Aunt Glagys?

Answer:
It had whiskers.

Taxt: Popsicles

Test 1, Question 5:

What did Frank do by misiake?
Answeor:

He laft his crink outside &l night

Information closer together

Information students draw on to answer this question:

Information about waiting for the best moment:

Stanza 2: *...we slyly sat
As patient as..."
Stanza 3: *The moments burned...*

Information about exactly what the boys are waiting for:

Stanza 6: "As still as lizards photographed...
...we hurried to seize our catch;*
Stanza 7: *The Nzards darted...*

Readers need to understand information that develops across
stanzas 2 and 3, and € and 7. Information about waiting for the
best moment is present in stanzas 2 and 3, but it is not until stanzas
6 and 7 that readers can be sure that the boys have been waiting
for the best moment to catch some lizards.

Information students draw on to answer this question:
Paragraph 4: “...you must heat the kernels to a very high
temperature...*

Paragraph 5: "As the temperature rises...and tum into

gas... As the amount of trapped gas grows,
the pressure inside the kernels Increases..."

Paragraph 6: *The pressure finally rises so high that the
casings break..."

Readers need to understand information that develops across
three paragraphs. Information about temperature is first introducad
in paragraph 4, and Is cared through to the topic sentence of
paragraph 5. Information about pressure is first introduced in
paragraph 5, and is carried through to the topic sentence of
paragraph 6.

Information students draw on to answer this question:

*'Remember that old great aunt of yours, Lou? The one
with the whiskery face...Ofd Aunt Gladys... Just look at the
wee kid. Same sort of whiskers, eh?'*

Readers need to understand information that develops within one
paragraph.

Information students draw on to answer this question:

*By mistake, he left the drink outside all night...*

Readers need 1o understand information that develops within one
sentenca.
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The PATC scale: using multiple pieces of information

Students demonstrate increasing skill in bringing together many piecas of information.

seawscore A Many pieces of information
(peic) needed

5

a0

Information students draw on to answer this question:

- Test 6, Question 41: Readers need to understand that many pieceas of information (tco
. .. many to state here) must be integrated in order to answer the
it ks e min argument iha I8 question. They may not draw on all available information, but
they will need to draw on most in order to check that therr inferenca
80 Answer: Is correct.
- That we shoulg have no ‘actory
- farms In New Zealand,
- | Information students draw on to answer this question:
*'Die you scumbags!
. \ately swinging into action.
“ Text: The Water Cannon He fired...
swung around to take out an enemy...
scored a direct hit...
m(’ .
Test 4, Question 18: 'Cover me'
What was Adam imagining when letting off a round...
“ he was playing with the water ‘they've got tanks!'...
) cannon? He saw himself in uniform.
Answer: The situation was desperate, only he could save hundreds
20 of innocent Mves.
He was a soldier. This shot had to count.*

Readers need to understand that several pleces of information
s must be integrated in order to answer the quastion. They may not
draw on all avalable information, but they will need tc draw on
mest in order 1o check their inference is comrect.

&0y
Taxt: The Hector's Dolphin
-— Information students draw on to answer this question:

Tt 3, Quastion & *An adult Hector's dolphin grows to a length of 1.4 metres...
Which delphin mentoned in this . ...4 metres for the bottlenose dolphin...

0t text grows the longest? ...3.4 metres for the striped dolphin...
Answer: ...2 metres for the dusky dolphin.
o The sottienose colphin, Readers need to understand that four pieces of information are

integrated in order to answer the question.

Information students draw on to answer this question:

154 Test 1, Question 10; *She decided that she was tired of her old home.*
Why did Mrs Tyler want to sell
her house? ) L
104 Readers need to understand that cne piece of information is used
Answer: in order to answer the question.
Sha wanted a change.

Fewer pieces of information needed
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The PATC scale: using implied information

Students demonstrate increasing skill in using impiied information.

Seale score 4
paic)

36

More implied information

Text: The Possum Fur
industry

Test 7, Question 18:

According to the author, what s

the main reason for the noreasing

number of passums?

Answer:

709

Fewer paople are kiling possums
dor their fur,

Text: Before Night Falls

Test 5, Question 27:

the tents had been “hastiy®
pegged out?

401

%

104

Answer:

The people wanted (o pet out of
the bad weather.

Text: How to make Takihi

Test 3, Question 23:

pour in stap 87
Answer:

The coconut cream and milk,

Test 2, Question 37:

Which season Is this poem
descrining?

Answer:

Spring

More explicit information

What was the mos! ikely reasen .

What is in the mixture that you .

Information students draw on to answer this question:

“With the fall in demand for fur and the value of the fur
dropping to uneconomic levels, the numbers of possums

. dramatically increased.”

Readers need 1o understand the causal relationship implied in the
sentence above. The fall in demand and decreasing value of fur
Is Inferred as the reason why “the numbers of possums dramatically
increased". The meanings of the tachnical terms *fall in demand*
and *uneconomic levels” also need to be inferred.

[ Information students draw on to answer this question:

“The cold wind bullied the two small tents.”
“...every time the harsh wind blew.*

Readers need to understand the relationship between “hastily
pegged out” and the weather conditions described above. The
relationship is a causal one, with the cold, bullying, and harsh
wind Inferred as the reason why the tents had been “hastily %egm
out®. The meaning of the metaphor *The cold wind bullied the
small tents* also needs to be inferred.

Information students draw on to answer this question:

5. Mix the coconut cream and the milk together.
6. Pour the mixture over the taro and pawpaw. *

Readers need to understand the relationship between “the mixture”
In step & and *Mix" in step 5. The relationship is a referential cne,
with “the mixture® referring to what results from the coconut cream
and milk being mixed together. This involves inference since the
relationship is not explicit, but, because there is dean‘{e?:me
association batween the words “Mix" and "mixture”, the inference
Is not complex.

Information students draw on to answer this question:

“Day in Spring*
“Through the long spring day.*

Readers need to understand explicitly stated information.
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The PATC scale: rejecting competing information

Students demonstrate increasing skill in identifying and rejecting competing information.

scae o More competing information

scare
(pac)
8T

asT

(20 ¢

55

45

25

o

Text: Cooling Off

Test 7, Question 3:
What coes Ghyn say aloug?
Answer:

Nathing, he only grunts.

Test 5, Question 9:

Acceoeding to this text, onre of
Pearse's main difficulties was...

Answer:

contraling his aircralt's flight.

Taxt: Granny's New Home

Test 2, Question 28:

Grarny probably moved into the
glasshouse because...

Answer:

she thought Mum didnt like
having her to stay.

Text: How to Grow a Peanut

Bush

Test 1, Question 20:

How long do you soak the
pearuts for?

Answer:

8 hours.

Less competing information

Information students draw on to answer this question:

'Gr;e Just grunted.

-..Glyn grunted ;

Giyn gave a m&?:n%r. *

Competing Information that could distract readers:

1 *No way am | gonna be the one who rings up first, Glyn promised
nime)!l-legotmuowmood.mmn t out of it.
;ge.m was nothing In the magazines. Nothing on TV. Nothing to

2 *.."You can go anyway."*

1 Readers need to understand that this information is reported by the
author as indirect (not direct) speech. It has the feel of direct speech
without actually being a quote.

2 Readers need to understand that because this quote comes on the
same line after “Tough luck,' his mother told him®, it could only be &
quote from Glyn's mother.

Information students draw on to answer this question:

*it was easier to gst the machine airborne than to control it—this
was the problem.

Competing Information that could distract readers:

*He kept his invention very quiet. The newspapers were not let into
the secret.*

Readers need to understand that, although difficulty can be inferred from
the co ing informaticn above, i.e., that keeping the invention secret
was probably difficult, the word “problem” is stated with regard to controling
the machine. Therefore this inference needs 1o be rejectad in favour of
the more explicit information about the problem of controling the machine.

Information students draw on to answer this question:

*You would think Mum would be pleased but Instead she looked
anno;

yed and kept glaring at Dad.*

Competing information that could distract readers:

*She got ... She started baking... She made my bed... She
mnegocome dinner before Mum cwneho:mfro,;n work and

she always made a pudding.*

Readers need to understand that although the competing information
above can be used to infer Grann%does a lot of work, it can not be used
to infer that she has moved into the glasshouse because she is sick of
dom? al the housework. Readers are assisted in rejecting this inference
by information suggesting Granny's wilingness to work: “She...never told
me to pick up my stuff*, and information suggesﬂng she is making her
own decisions rather than being dictated to by her famity: “Best of all, she
told me | didn't have to eat my vegetables.”

“.

Information students draw on to answer this question:

*...Soak the peanuts in a glass of water for 8 hours.*

Competing information to distract readers: None
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The PATC scale: using vocabulary

Students demonstrate increasing skill in using complex vocabutary.

scak  p More complex vocabulary

score
(pac)
5 4

Text: The Bike

Test 7, Question 25:

Which tone does Cat use when
she says, “whan you were my

pregnant and marned to Jim*?
Answer:
A scomful tone,

731'

651

Text: How to Make Takihl

Test 3, Question 24:

409

59

Where does the cooking foil po?
Answer:

Undemeath ard aver the lop of
the fooc.

Test 3, Question 15:

Why dig Dad wink at Tama?
Answer:

To show Tama he admired his
fiing

Test 1, Question 7:

Which season was it most likel
1o be when Frank left his drin
out over night?

Answer:

Winter.

Less complex vocabulary

age you were three monlhsl

htzg\)aﬂon students draw on to answer this question (emphasis
ad 2

lmnel
*scormn

1 sald, witheningly, ‘when you..."*

Readers need 1o understand the above words; readers may be unfamiliar
with some or all of them. “Wither* may be known in other contexts (e.g.,
when a plant becomes dry or shrivelled, or when something becomes
shrunken or wrinkled from age or disease). But only readers who know
the underlying concept of “wither® (i.e., to fall into decay, to decline or
diminish) will te able to apply this known meaning to a new context and
infer that Cat uses a *withering* tone in order to diminish, or show scom
towards, Stella.

’lnlormatlon students draw on to answer this question:

lm-
*Underneath*
.Me.

.msel

Readers need to understand the above words; readers may be unfamiliar
with some or all of them. In particular, they may be unfamiliar with “line”
meaning to cover the inside of something. *Base" may be known in other
contexts (e.g., home base), but only readers who know the underlying
concept of “base” (i.e., a foundation or centre of operations) will be able
to apply the known meaning to a new context.

Information students draw on to answer this question:

‘wink/ed*
*Good wictory roll*

Readers need to understand the above words. They may be unfamiliar
with “winked" and *victory” but are likely to be familiar with *roll* (as long
as they don't infer “bread roll”). All will be familiar with “Good", and have
the opportunity to link its meaning with the meaning of “roll* in order to
infer the correct answer.

Information students draw on to answer this question:

“very cold®

Readers need to understand the above words. All are likely to be familiar.
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The PATC scale: using grammatical structures

Students demonstrate increasing skill in using complex grammatical structures.

More complex grammatical
Scale score A
e structures
% Text: The 1981 Springbok
Tour
204 Test 7, Question 28:
In the sacond paragraph, what
goes "it" refer 107
51
Answer:
The New Zealand government's
8014 stance.
]
Text: Storm at Sea
vy a—
Test 6, Question 11:
= Why were hal! the lifeboats
‘useless®?
60+ Answer:
Because no-one could get to
them.
as
50--
&
Text: Amazing Animal
st Senses
Test 1, Question 19:
a8 What kind of bird is an owi?
Answer:
0T A rapior.
=

109

Text: Popsicles

Test 1, Question 8:

Whry was the nama ch
*Epsicles” 10 "Popsicles™?

from

Answer:

Because Frank's children didn't
ke the name “Epsicies”.

Less complex grammatical
structures

' Information students draw on to answer this question
(emphasis added):

*The public, however, increasingly disagreed with the
govemment's stance, belleving # would send a message to
vawthAlhcan.govenwnen that New Zesland supported
its racist policies.

Readers need to understand that "it* refers to “the government's
stance®, and not to the NZ government in general or the public.
Readers also need to understand that referring words refer to
something already mentioned, and not to something yet to be
mentioned such as the South African mment. They also need
to understand that “its" (which refers to the South African
government) Is quite separate from “it" (which refers to the New
ealand government's stance).

Information students draw on to answer this question:

“The lifaboats were filing quickly. Only half of them could
be used, after all; the onss on the left-hand side, now pointing
more and move at the sky, hung useless. *

Readers need 1o understand that the clause “now pointing mare
and more at the Is embedded within the clause “the ones on
the left-hand side hung useless”, and that the function of this
embedded clause is to add information to “the ones on the left-
hand side”. They also need to understand that “the ones" refers
back 1o “The ldeboats” but needs to be tracked via “them”.

Information students draw on to answer this question:

“And raptors, such as eagles, hawks, falcons, and owls, have
eyesight that is about eight times better than the sharpest
human eye."

Readers need to understand that the clause “such as eagles
hawks, falcons, and owls" is embedded within the clause "An
raptors have eyesight that is about eight times better than the
sharpest human eye*, and that the function of this embedded
clause Is to add information to “raptors”. The inclusion of “such
as" signals to readers that information about particular types of
raptors is about to be provided, thus making the grammatical
structure easier to understand than if brackets or em dashes had
been used; for example, "And raptors—eagles, hawks, falcons,
and owls—have eyesight that is about eight times better than the
sharpest human eye."

Information students draw on to answer this question
(emphasis added):

"By now he had children of his own. They didn't ke the
name Epsicles so they changed it to Popsicles.*

Readers need to understand that *he" refers to Frank, and that
"They" refers to Frank’s children. Readers also need to understand
the co-ordinating conjunction “so”. Bath of these pronouns and the
conjunction are generally used and understood by young chidren.
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